Total No. of Printed Pages—16
2 SEM FYUGP Q,ﬂﬂgﬂuﬁw (A/B)

2024
( May/June )

MATHEMATICS
( Generic Elective Course )

Paper : GECMTH2

Full Marks : 80
Pass Marks : 24

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Paper : GECMTH2 A
( Foundation in Mathematics—II )

1. (o) W B4 () " p,® (i) OL 141=2
Write the values of (i) " p,, and (iij)OL
() 6C,3 T ey
Find the value of 6C,.
(€ oS & "C, +" C,_; ="*1 C,. 5
Show that " C, +" C,_; ="*! C,.
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(2)

(d) @ 9F | SR Ew o | 2+274

Write the sum _ and product rule of

counting,
fe) Yy @@
Show that | . A
"Cot" G A" Cy 4 47 €, =27 5
9RT/Or
™| ng

r-1 =‘36," C,=84,"C,, =126,

OO n ¥ r3 YW fey 9 |
¥ "c, =36 C, =84,"C,,, =126
then find the valyeg of nandr.
0. ﬂ?rﬁﬁl._x.+,ya;z==_;oo‘q e S4e I
TR W e Rty ey
Find ' i
positi\tr}:eiﬁtl;?gqgf ordered triples of
. - 2 s i i
the-'equationjc'ﬂ-.yv:. ;c: 1?)1; ) solutions ¢/
CwRyor

A bag contains 5 bléék’an

Determine the nuber g¢ d‘ 6 i'ed balls.

2 black and 2 red balls ca:l’?: ;21 which
() & S RTUPR Tow ooty By ected.

Write  the  difference =
i d binati betwe
permutation and combination, en

4P/1191 -
24P/ (%"“inu‘ed)

(3)

2. (a) TR ORIRSI | g | 1
Define shift operator.
(b) S R oo | 1
Define interpolation.
(0 I AF GHRNF BT TR TE o | 1

Write the relation between diagonal
differences and horizontal differences.

(d) ST @A=E-L . o
Show that A=E -=1.
(e) ST @ Reftrs w1 e | 2

Show that the divided difference is
symmetric. ' '

(N R IR I S ofeR o w1 3

Construct the diagonal difference table
for the following :

x| 1 | 2] 3] 4| s
vl 1] 4 |10]15]27

@ s @ p.'=%(E% +Eh)
Show that = %(E% +E7Y),
(r) TENER SR R O I IR oy | 2

Write two main uses of Lagrange’s
interpolation formula.
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(4)

() T o SRt v P w1

Derive Newton’s forward interpolation
formula.

<1/ Or

PO T Moo wRd W g <R IR )
TFEANCO! TR o

Using Lagrange’s interpolation formula,
find the function y(x) for the following :

X ¢ 1 3 4
y -12 0 12 24

3. (@) 10@ Remn W& 100 w3 7o FEF A
RAR (TR 7= B |

Write the elements of the set of positive

integers less than 100 and divisible
by 10. .

(b) IPT %R igE foray |

Define random experiment.
© n s IS AW T R sRewE R
SRR | (DSERE I AT 2 SR o |

n persons are sitting at a ro

und tg]
Write the number of possible sitzif.
ways. | 8

24P/1191

C .
(Continuea ) 24p/1191

(5)

(d) <o e Wk flece R en o sram

Ao T oo <oa" M Ry T 2

Find the number of exhaustive events in
the throw of -a dice when any two
numbers are selected.

(e) TS SIRER Recy 3 w11 3
Describe. conditional probability.

(N G TR R fr 2
Write the statement of Bayes’ theorem.

(g) & Rewen PR Teg o 5x2=10

Answer any two from the following :

() R R ! W A WF BY IRI o9
T owma
P(Av B) = P(A) + PB)- AN B)

For any two events A and B, prove
that

P(AU B) = P(A) + P(B)- PlA B)

(i) TRFER AT F0 @B Rio-2oms
53 B1 IRAE <7 S fefy 40

Find the chance that a leap-year,
selected at random, will contain
53 Sundays.
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4. (a)

()

(e)

24P/1191

(b) -

@

(6)

(&) TPFER qom e RRE OIS
OIS I} 2 | <} PR @b fags
TR AR, QA SR el 470 |

.. A line is divided at random into

€e parts. Find the chance that

they form the sides of a possible
. triang]e,

m
Show that the wmght:T TR w1 5
natural numbers
equal to the éorre
equal to 1 z@n +1).

Whose ean of ti;‘rst n
Spondmg umberaz:

(C.pmjwed)

(7))

Paper : GECMTH2 B -~ v
" ( Business Mathematics ) -

1. S XA Tag o -

Answer the following questions :

(a) M-

(®)

(d

24P/1191

5% 10
2 0

=, x I T Sfpean. 1
If

5x 10_
2 4|
find x. .
3 IS S™q bl m@w%«qﬁmu 1

Give an example of scalar matnx of
order 3.

o e AR Sfejeq ;| 1
Choose the correct answer :
A =a;lmxn <51 3o (e T3, R
A =[ajlmxn is a square matnx if
(z) m<n
(i) m>n
i) m=n
(iv) €A B8 T
None of the above
( Turm Over )



